Publ. Math. Debrecen 89/3 (2016), 365–372 DOI: 10.5486/PMD.2016.7493

Separation by convex and strongly convex stochastic processes

By LYSIS GONZÁLEZ (Caracas), DAWID KOTRYS (Bielsko-Biała) and KAZIMIERZ NIKODEM (Bielsko-Biała)

Dedicated to Professor Zsolt Páles on his 60th birthday

Abstract. Characterizations of pairs of stochastic processes that can be separated by a convex or strongly convex stochastic process are presented. As consequences, stability results of the Hyers–Ulam type are obtained.

1. Introduction

Separation theorems, that is theorems providing conditions under which two given functions can be separated by a function from some special class, play an important role in many fields of mathematics and have various applications. In the literature one can find numerous results of this type (see, for instance [1], [2], [3], [5], [9], [10], [12], [13], [14], [15], [16], [18] and the references therein). In [1], the following theorem about separation by convex functions was obtained:

Theorem BMN. Let $I \subset \mathbb{R}$ be an interval and $f, g : I \to \mathbb{R}$. There exists a convex function $h : I \to \mathbb{R}$ such that $f \leq h \leq g$ on I if and only if

$$f(\lambda x + (1 - \lambda)y) \leq \lambda g(x) + (1 - \lambda)g(y), \tag{1}$$

for all $x, y \in I$ and $\lambda \in [0, 1]$.

Mathematics Subject Classification: Primary: 26A51; Secondary: 39B62, 60G99. Key words and phrases: convex stochastic process, strongly convex stochastic process, separation theorems, Hyers–Ulam stability.

Lysis González, Dawid Kotrys and Kazimierz Nikodem

The "only if" part of this theorem is a straightforward calculation, but in the proof of the "if" part the classical Carathéodory theorem play a crucial role.

The aim of the present note is to give some counterparts of the above theorem for convex and strongly convex stochastic processes. As a consequence, we obtain also Hyers–Ulam-type stability results for such classes of processes. Since in our settings the Carathéodory theorem can not be used, the proof of our main result is different from the proof of Theorem BMN.

Let (Ω, \mathcal{A}, P) be an arbitrary probability space and $I \subset \mathbb{R}$ be an interval. A function $C : \Omega \to \mathbb{R}$ is called a *random variable* if it is \mathcal{A} -measurable. A function $X : I \times \Omega \to \mathbb{R}$ is called a *stochastic process* if for every $t \in I$ the function $X(t, \cdot)$ is a random variable.

Let $C : \Omega \to \mathbb{R}$ be a positive random variable. Recall that a stochastic process $X : I \times \Omega \to \mathbb{R}$ is said to be *strongly convex with modulus* $C(\cdot)$ if the inequality

$$X(\lambda t_1 + (1-\lambda)t_2, \cdot) \leq \lambda X(t_1, \cdot) + (1-\lambda)X(t_2, \cdot) - C(\cdot)\lambda(1-\lambda)(t_1-t_2)^2 \quad (\text{a.e.}) \quad (2)$$

is satisfied for all $t_1, t_2 \in I$ and $\lambda \in [0, 1]$ (cf. [7]). By omitting the term $C(\cdot)\lambda(1 - \lambda)(t_1 - t_2)^2$ in the inequality (2), we get the definition of a *convex stochastic* process introduced in 1980 in [11]. Many properties of convex and strongly convex stochastic processes can be found in [7], [8], [11], [17].

At the end of this section, let us recall the definition of the essential infimum of a collection of functions. We will use this notion as a basic tool in the proof of our main theorem. Let $(\Omega, \mathcal{F}, \mu)$ be a measure space and \mathcal{S} be a collection of measurable functions $f : \Omega \to \mathbb{R}$. On \mathbb{R} the Borel σ -algebra is used. If \mathcal{S} is a countable set, then we may define the pointwise infimum of the functions from \mathcal{S} , which is measurable itself. If \mathcal{S} is uncountable, then the pointwise infimum need not be measurable. In this case, the essential infimum can be used. The *essential infimum* of \mathcal{S} , written as ess inf \mathcal{S} , if it exists, is a measurable function $f : \Omega \to \mathbb{R}$ satisfying the following two axioms:

- $f \leq g$ almost everywhere, for any $g \in \mathcal{S}$,
- if $h: \Omega \to \mathbb{R}$ is measurable and $h \leq g$ almost everywhere for every $g \in S$, then $h \leq f$ almost everywhere.

It can be shown that for a σ -finite measure μ , the essential infimum of S do exists, whenever S is a family of measurable functions jointly bounded from below. For more details, we refer the reader to [4].

Separation by convex and strongly convex stochastic processes

2. Separation by convex processes

Now we present the main result of this paper. It gives a condition under which two given stochastic processes can be separated by a convex stochastic process.

Theorem 1. Let $X, Y : I \times \Omega \to \mathbb{R}$ be stochastic processes. There exists a convex stochastic process $Z : I \times \Omega \to \mathbb{R}$ such that

$$X(t, \cdot) \leq Z(t, \cdot) \leq Y(t, \cdot)$$
 (a.e.)

for all $t \in I$, if and only if

$$X\left(\sum_{i=1}^{n}\lambda_{i}t_{i},\cdot\right)\leqslant\sum_{i=1}^{n}\lambda_{i}Y(t_{i},\cdot)\quad(a.e.)$$
(3)

for all $n \in \mathbb{N}$, $t_1, \ldots, t_n \in I$ and $\lambda_1, \ldots, \lambda_n \ge 0$ with $\lambda_1 + \cdots + \lambda_n = 1$.

PROOF. The "only if" part follows by the Jensen inequality for convex stochastic processes (see [7]):

$$X\left(\sum_{i=1}^{n}\lambda_{i}t_{i},\cdot\right) \leqslant Z\left(\sum_{i=1}^{n}\lambda_{i}t_{i},\cdot\right) \leqslant \sum_{i=1}^{n}\lambda_{i}Z(t_{i},\cdot) \leqslant \sum_{i=1}^{n}\lambda_{i}Y(t_{i},\cdot) \quad (\text{a.e.}).$$

To prove the "if" part, fix $t \in I$ and define the process Z by

$$Z(t,\cdot) = \operatorname{ess\,inf} \left\{ \sum_{i=1}^{n} \lambda_i Y(t_i,\cdot) : \quad n \in \mathbb{N}, t_1, \dots, t_n \in I, \lambda_1, \dots, \lambda_n \in [0,1] \right\}$$

such that $\lambda_1 + \dots + \lambda_n = 1$ and $t = \lambda_1 t_1 + \dots + \lambda_n t_n \right\}.$

By (3) and the definition of essential infimum, we have

$$X(t, \cdot) \leq Z(t, \cdot)$$
 (a.e.), $t \in I$.

By the definition of Z (taking n = 1, $\lambda_1 = 1$ and $t_1 = t$) we get also

$$Z(t, \cdot) \leq Y(t, \cdot)$$
 (a.e.), $t \in I$.

To prove that Z is convex, fix $t_1, t_2 \in I$ and $\lambda \in [0, 1]$. Take arbitrary $u_1, \ldots, u_n \in I$, $\alpha_1, \ldots, \alpha_n \in [0, 1]$ and $v_1, \ldots, v_m \in I$, $\beta_1, \ldots, \beta_m \in I$ such that $\alpha_1 + \cdots + \alpha_n = 1$, $\beta_1 + \cdots + \beta_m = 1$ and $t_1 = \alpha_1 u_1 + \cdots + \alpha_n u_n$, $t_2 = \beta_1 v_1 + \cdots + \beta_m v_m$. Since

$$\sum_{i=1}^{n} \lambda \alpha_i + \sum_{j=1}^{m} (1-\lambda)\beta_j = 1,$$

Lysis González, Dawid Kotrys and Kazimierz Nikodem

the point $\lambda t_1 + (1 - \lambda)t_2$ is a convex combination of $u_1, \ldots, u_n, v_1, \ldots, v_m$, and

$$\lambda t_1 + (1-\lambda)t_2 = \lambda \sum_{i=1}^n \alpha_i u_i + (1-\lambda) \sum_{j=1}^m \beta_j v_j.$$

Therefore, by the definition of Z we have

$$Z(\lambda t_1 + (1-\lambda)t_2, \cdot) \leq \lambda \sum_{i=1}^n \alpha_i Y(u_i, \cdot) + (1-\lambda) \sum_{j=1}^m \beta_j Y(v_j, \cdot) \quad (a.e.).$$
(4)

This inequality holds for every $n \in \mathbb{N}$, $u_1, \ldots, u_n \in I$ and $\alpha_1, \ldots, \alpha_n \in [0, 1]$ such that $\alpha_1 + \cdots + \alpha_n = 1$ and $\alpha_1 u_1 + \cdots + \alpha_n u_n = t_1$, as well as for all $m \in \mathbb{N}, v_1, \ldots, v_m \in I$ and $\beta_1, \ldots, \beta_m \in [0, 1]$ such that $\beta_1 + \cdots + \beta_m = 1$ and $\beta_1 v_1 + \cdots + \beta_m v_m = t_2$. Therefore, taking the essential infimum in the first term of the right hand side of (4) and next in the second term and using the second axiom of the definition of essential infimum, we get

$$Z(\lambda t_1 + (1-\lambda)t_2, \cdot) \leq \lambda Z(t_1, \cdot) + (1-\lambda)Z(t_2, \cdot) \quad (a.e.).$$

This shows that Z is convex and finishes the proof.

Remark 2. In Theorem BMN, to get the function h that separates f and g, it was enough to assume inequality (1) only for convex combinations of two points. In our Theorem 1 we assume that the corresponding inequality (3) holds for arbitrarily long convex combination. It is caused by the fact that we can not use the Carathéodory theorem in the proof. It is an open problem whether Theorem 1 remains true if we assume (3) only for n = 2.

As an immediate consequence of the above theorem, we obtain the following Hyers–Ulam-type stability results for convex stochastic processes. For the classical Hyers–Ulam theorem, see [6].

Let ε be a positive constant. We say that a stochastic process $X: I \times \Omega \to \mathbb{R}$ is ε - convex if

$$X\left(\sum_{i=1}^{n}\lambda_{i}t_{i},\cdot\right) \leqslant \sum_{i=1}^{n}\lambda_{i}X(t_{i},\cdot) + \varepsilon \quad (a.e.)$$

$$(5)$$

for all $n \in \mathbb{N}$, $t_1, \ldots, t_n \in I$ and $\lambda_1, \ldots, \lambda_n \ge 0$ with $\lambda_1 + \cdots + \lambda_n = 1$.

Corollary 3. If a stochastic process $X : I \times \Omega \to \mathbb{R}$ is ε -convex, then there exists a convex stochastic process Z such that

$$|X(t,\cdot) - Z(t,\cdot)| \leq \frac{\varepsilon}{2} \quad (a.e.) \tag{6}$$

for all $t \in I$.

Separation by convex and strongly convex stochastic processes

PROOF. Define $Y(t, \cdot) = X(t, \cdot) + \varepsilon$, $t \in I$. In view of (5), the processes X and Y satisfy (3). Therefore, by Theorem 1, there exists a convex process $Z_1 : I \times \Omega \to \mathbb{R}$, such that $X(t, \cdot) \leq Z_1(t, \cdot) \leq X(t, \cdot) + \varepsilon$ (a.e.), for all $t \in I$. Putting $Z(t, \cdot) = Z_1(t, \cdot) - \frac{\varepsilon}{2}$, we get (6). This completes the proof. \Box

3. Separation by strongly convex processes

The following theorem characterizes pairs of stochastic processes which can be separated by a strongly convex stochastic process.

Theorem 4. Let $X, Y : I \times \Omega \to \mathbb{R}$ be stochastic processes. There exists a stochastic process $Z : I \times \Omega \to \mathbb{R}$ strongly convex with modulus $C(\cdot)$ such that

$$X(t,\cdot) \leqslant Z(t,\cdot) \leqslant Y(t,\cdot) \quad (a.e.)$$

for all $t \in I$, if and only if

$$X\left(\sum_{i=1}^{n}\lambda_{i}t_{i},\cdot\right) \leqslant \sum_{i=1}^{n}\lambda_{i}Y(t_{i},\cdot) - C(\cdot)\sum_{i=1}^{n}\lambda_{i}(t_{i}-m)^{2} \quad (a.e.)$$
(7)

for all $n \in \mathbb{N}$, $t_1, \ldots, t_n \in I$, $\lambda_1, \ldots, \lambda_n \ge 0$ with $\lambda_1 + \cdots + \lambda_n = 1$ and $m = \sum_{i=1}^n \lambda_i t_i$.

PROOF. To prove the "only if" part, assume that there exists a strongly convex stochastic process Z with modulus C, such that $X(t, \cdot) \leq Z(t, \cdot) \leq Y(t, \cdot)$ (a.e.), for every $t \in I$. The Jensen inequality for strongly convex stochastic processes (see [7]) implies that

$$X\left(\sum_{i=1}^{n}\lambda_{i}t_{i},\cdot\right) \leqslant Z\left(\sum_{i=1}^{n}\lambda_{i}t_{i},\cdot\right) \leqslant \sum_{i=1}^{n}\lambda_{i}Z(t_{i},\cdot) - C(\cdot)\sum_{i=1}^{n}\lambda_{i}(t_{i}-m)^{2}$$
$$\leqslant \sum_{i=1}^{n}\lambda_{i}Y(t_{i},\cdot) - C(\cdot)\sum_{i=1}^{n}\lambda_{i}(t_{i}-m)^{2} \quad (\text{a.e.}).$$

To prove the "if" part, assume that X and Y satisfy (7). Consider the stochastic processes X_1 and Y_1 defined by $X_1(t, \cdot) = X(t, \cdot) - C(\cdot)t^2$ and $Y_1(t, \cdot) = Y(t, \cdot) - C(\cdot)t^2$, for all $t \in I$.

By (7) and the following equality

$$\sum_{i=1}^{n} \lambda_i (t_i - m)^2 = \sum_{i=1}^{n} \lambda_i t_i^2 - m^2$$

Lysis González, Dawid Kotrys and Kazimierz Nikodem

we have

$$\begin{split} X_1\left(\sum_{i=1}^n \lambda_i t_i, \cdot\right) &= X\left(\sum_{i=1}^n \lambda_i t_i, \cdot\right) - C(\cdot) \left(\sum_{i=1}^n \lambda_i t_i\right)^2 \\ &\leqslant \sum_{i=1}^n \lambda_i Y(t_i, \cdot) - C(\cdot) \sum_{i=1}^n \lambda_i (t_i - m)^2 - C(\cdot) \left(\sum_{i=1}^n \lambda_i t_i\right)^2 \\ &= \sum_{i=1}^n \lambda_i Y(t_i, \cdot) - C(\cdot) \left(\sum_{i=1}^n \lambda_i t_i^2 - m^2\right) - C(\cdot) m^2 \\ &= \sum_{i=1}^n \lambda_i (Y(t_i, \cdot) - C(\cdot) t_i^2) = \sum_{i=1}^n \lambda_i Y_1(t_i, \cdot) \quad (\text{a.e.}). \end{split}$$

By Theorem 1, there exists a convex stochastic process $Z_1: I \times \Omega \to \mathbb{R}$ such that for all $t \in I$ holds

$$X_1(t,\cdot) \leqslant Z_1(t,\cdot) \leqslant Y_1(t,\cdot)$$
 (a.e.).

Take $Z(t, \cdot) = Z_1(t, \cdot) + C(\cdot)t^2$. The process Z is strongly convex with modulus $C(\cdot)$ (see [8, Lemma 2.1]). Moreover, the inequality

$$X(t, \cdot) \leq Z(t, \cdot) \leq Y(t, \cdot)$$
 (a.e.)

holds for every $t \in I$.

At the end of this section we present Hyers–Ulam type stability result for strongly convex stochastic processes. We say that a stochastic process $X : I \times \Omega \to \mathbb{R}$ is ε - strongly convex with modulus $C(\cdot)$ if

$$X\left(\sum_{i=1}^{n}\lambda_{i}t_{i},\cdot\right) \leqslant \sum_{i=1}^{n}\lambda_{i}X(t_{i},\cdot) - C(\cdot)\sum_{i=1}^{n}\lambda_{i}(t_{i}-m)^{2} + \varepsilon \quad (\text{a.e.})$$
(8)

for all $t_1, ..., t_n \in I$, $\lambda_1, ..., \lambda_n \ge 0$, with $\lambda_1 + \cdots + \lambda_n = 1$ and $m = \lambda_1 t_1 + \cdots + \lambda_n t_n$.

Corollary 5. If a stochastic process $X : I \times \Omega \to \mathbb{R}$ is ε -strongly convex with modulus $C(\cdot)$, then there exists a strongly convex stochastic process $Z : I \times \Omega \to \mathbb{R}$ with modulus $C(\cdot)$ such that

$$|X(t,\cdot) - Z(t,\cdot)| \leqslant \frac{\varepsilon}{2} \quad (a.e.)$$
(9)

for all $t \in I$.

370

Separation by convex and strongly convex stochastic processes

PROOF. To prove Corollary 5, we define $Y(t, \cdot) = X(t, \cdot) + \varepsilon$ for all $t \in I$. By (8) we have

$$\begin{split} X\left(\sum_{i=1}^{n}\lambda_{i}t_{i},\cdot\right) &\leqslant \sum_{i=1}^{n}\lambda_{i}X(t_{i},\cdot) - C(\cdot)\sum_{i=1}^{n}\lambda_{i}(t_{i}-m)^{2} + \varepsilon \\ &= \sum_{i=1}^{n}\lambda_{i}X(t_{i},\cdot) + \varepsilon\sum_{i=1}^{n}\lambda_{i} - C(\cdot)\sum_{i=1}^{n}\lambda_{i}(t_{i}-m)^{2} \\ &= \sum_{i=1}^{n}\lambda_{i}(X(t_{i},\cdot) + \varepsilon) - C(\cdot)\sum_{i=1}^{n}\lambda_{i}(t_{i}-m)^{2} \\ &= \sum_{i=1}^{n}\lambda_{i}Y(t_{i},\cdot) - C(\cdot)\sum_{i=1}^{n}\lambda_{i}(t_{i}-m)^{2} \quad (\text{a.e.}). \end{split}$$

We apply Theorem 4 to the processes X and Y. There exists a strongly convex stochastic process Z_1 such that $X(t, \cdot) \leq Z_1(t, \cdot) \leq Y(t, \cdot)$ (a.e.). Putting $Z(t, \cdot) = Z_1(t, \cdot) - \frac{\varepsilon}{2}$, we get (9).

References

- K. BARON, J. MATKOWSKI and K. NIKODEM, A sandwich with convexity, Math. Pannonica 5 (1994), 139–144.
- [2] M. BESSENYEI and P. SZOKOL, Convex separation by regular pairs, J. Geom. 104 (2013), 45-56.
- [3] M. BESSENYEI and P. SZOKOL, Separation by convex interpolation families, J. Convex Anal. 20 (2013), 937–946.
- [4] J. L. DOOB, Measure Theory, Graduate Texts in Mathematics, Vol. 143, Springer-Verlag, New York, 1994.
- [5] W. FÖRG-ROB, K. NIKODEM and ZS. PÁLES, Separation by monotonic functions, *Math. Pannonica* 7 (1993), 191–196.
- [6] D. H. HYERS and S. M. ULAM, Approximately convex functions, Proc. Amer. Math. Soc. 3 (1952), 821–828.
- [7] D. KOTRYS, Remarks on strongly convex stochastic processes, Aequationes Math. 86 (2012), 91–98.
- [8] D. KOTRYS, Some characterizations of strongly convex stochastic processes, Math. Aeterna 4 (2014), 855–861.
- [9] N. MERENTES and K. NIKODEM, Strong convexity and separation theorems, Aequationes Math. 90 (2016), 47–55.
- [10] D. KOTRYS and K. NIKODEM, Quasiconvex stochastic processes and a separation theorem, Aequationes Math. 89 (2015), 41–48.
- [11] K. NIKODEM, On convex stochastic processes, Aequationes Math. 20 (1980), 184–197.
- [12] K. NIKODEM and ZS. PÁLES, Generalized convexity and separation theorems, J. Conv. Anal. 14 (2007), 239–247.

- 372 L. González et al. : Separation by convex and strongly convex...
- [13] K. NIKODEM, ZS. PÁLES and SZ. WĄSOWICZ, Abstract separation theorems of Rodé type and their applications, Ann. Polon. Math. 72 (1999), 207–217.
- [14] K. NIKODEM and Sz. WASOWICZ, A sandwich theorem and Hyers–Ulam stability of affine functions, Aequationes Math. 49 (1995), 160–164.
- [15] Zs. PÁLES, Separation by approximately convex functions, Grazer Math. Ber. 344 (2001), 43–50.
- [16] Zs. PÁLES and V. ZEIDEN, Separation via quadratic functions, Aequationes Math. 51 (1996), 209–229.
- [17] M. SHAKED and J. G. SHANTHIKUMAR, Stochastic convexity and its applications, Adv. in Appl. Prob. 20 (1988), 427–446.
- [18] Sz. WASOWICZ, Polynomial selections and separation by polynomials, Studia Math. 120 (1996), 75–82.

LYSIS GONZÁLEZ DEPARTAMENTO DE MATEMÁTICAS UNIVERSIDAD CENTRAL DE VENEZUELA CARACAS VENEZUELA

E-mail: lysis.gonzalez@gmail.com

DAWID KOTRYS DEPARTMENT OF MATHEMATICS UNIVERSITY OF BIELSKO-BIAŁA UL. WILLOWA 2 43-309 BIELSKO-BIAŁA POLAND

E-mail: dkotrys@gmail.com

KAZIMIERZ NIKODEM DEPARTMENT OF MATHEMATICS UNIVERSITY OF BIELSKO-BIALA UL. WILLOWA 2 43-309 BIELSKO-BIALA POLAND

E-mail: knikodem@ath.bielsko.pl

(Received September 9, 2015; revised May 30, 2016)